A A www.rackpath.com

customerservice@rackpath.com

Vertical Rack Rail

\n’@n.nu.\th.Qanth-Qe.\o.a.u’a.h‘-..t.t...~.°\

[6 6 o0 c o0 000000 Co0C 00000 CC0C00000000C00000060600606037)

[0 00 0000000000000 0C0CC0 0000000000000 C0 0000000000000 C0 0000000 )
\.....»...............».........u............................\

THIS MANUAL APPLIES TO THE FOLLOWING SKUs:

00600308 00600310 00600312

Thank you for purchasing the Vertical Rack Rail Pair Kit from RackPath. Every effort has been made to ensure the accuracy of the
information in this product manual.

Important Safety Instructions

Please call or email us if you have any concerns about the installation or use of your product. Please inspect the product for any
missing or defective components. Ask RackPath for help if any component is broken or missing. If the product has been affected, do not
try to install or use it. To prevent harm during assembly, place the product contents on cardboard or another safe surface. Improper
installation or use of this product can result in product damage, other damage to equipment, or personal injury.

It is advised that the installation be performed by a professional installer. RackPath cannot be held liable for equipment damage or
physical injuries resulting from inappropriate product usage or installation. Please ensure that the equipment stored/mounted should not
exceed the stated weight capacity.

Limitations of Liability: RackPath Network Equipment (Yunnan) Co. Ltd will not be responsible for any injury or damage, whether
direct or indirect, special, punitive, incidental, or consequential damages (including, but not limited to, lost profits or revenue, loss of
use, lost business opportunities, or loss of goodwill), or the costs of procuring substitute products, arising out of or in connection with
the use of the product. In no case can seller's gross accumulated liability, arising from all causes of action and theories of liability,
exceed the total sums actually charged by customer to seller under the order giving rise to any liability hereunder.



Feature Identification

:

i

!

E _5mm Diameter Hole < (Vertical Rack Rail Installation)

H 6mm Diameter Hole

§ 12-24 Threaded o

g Equipment Mounting Hole Ty 2

:

:

i

Accessories List
12 - 24 Mounting Screws 12U x48; 16U x64; 20U x80
M6 Rail Installation Screws 12U x8; 16U x12; 20U x16
- M6 Metal Washers 12U x8; 16U x12; 20U x16

Vertical Rack Rail Installation

19in (482.6mm)

Attach the Vertical Rack Rails to the wood frame or other suitable mounting surface using M6 Rail
Installation Screws (B) and M6 Metal Washers (C), make sure both Vertical Rack Rails are at same
height.

Note: To build a 19" rack, make sure the distance between two frames is 19" (482.6mm).




